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I.INTRODUCTION

Your slimline Business Analyst || calculator moves
you into a new dimension of easy-to-use and
powerful personal calculating.

The slim styling of your Business Analyst Il calculator
is matched only by its powerful financial, business
and statistical calculating powers. The seemingly
endless variations of annuity, percentage, compound
interest, amortization, cost control and depreciation
can be analyzed wherever you go. Add to this
sophisticated statistical capabilities such as linear
regression and trend line analysis and you have an
extraordinarily powerful and useful tool. With the
Business Analyst Il calculator, you can say
“goodbye” to the books of tables and charts that
were once required in these sorts of calculations.
Your answers will be more accurate too, up to 8 digits
for most calculations. These features, combined with
a flexible memory system, make the Business
Analyst |l calculator a worthwhile investment that will
easily pay for itself in a very short time.

Features and Functions

- Easy to read Liquid Crystal Display (LCD).

* Constant Memory™ feature holds numbers in
mode registers and user memory even while the
calculator is turned off.

+ APD™ Automatic Power Down provides for
special power-saving features. The calculator turns
itself off completely after typically 5 to 15 minutes

of nonuse. You will never waste a set of batteries by
forgetting to turn your calculator off or by having it
turned on accidentally. This feature can increase
the life of each set of batteries up to 50%.

= Battery indicator provides information on battery
condition.

« Over 1000 hours of operation can normally be
achieved from a fresh set of batteries.



® Mathematical Functions include:

Arithmetic (+, —, X, +)

Square (x?) and Square Root (V'x)

Natural Logarithm (In x) and Antilogarithm (ex)
Universal Powers (y*)

Reciprocal (1/x)

Percent (%)

Percent Change (A%)

* Profit Margin Functions for easy calculations
involving cost, selling price and profit margin.

o Financial Capabilities solves problems

involving:

Simple Interest Annuities

Compound Interest  Add-On Interest

Rent Schedules Amortization Schedules
Mortgages Bond Yields

Savings Accounts Bond Analyses (Discounting)
Installment Loans Depreciation

Insurance Plans

# Statistical Functions include:

Linear Regression routine for both immediate
statistical analysis of data and projection of new
points. Trend-Line Analysis is also available.
Mean, Standard Deviation and Correlation
capabilities to analyze one or iwo-dimensional
statistical data.

® Accuracy — The internal calculating capacity is
11 digits even though only 8 can be displayed. The
8-digit displayed number is generally rounded to
within = 1 in the Bth digit for all functions except
where noted.



Il. BASIC OPERATIONS

Turning the Calculator ON and OFF
Pressing , the upper right most key on the
keyboard, applies power and prepares the calculator
for use. The first time you turn on the calculator, or
after replacing the batteries, completely clear the
calculator by pressing owg , parc] , [2nd] [, [Fix]
(8] and [510].

Power-on condition is indicated by the presence of
a"A"and a"0" in the display. The [oFF] key, of
course, removes power from the calculator. When
the calculator is turned off and then back on, the
display and any uncompleted calculation are
cleared.

NOTICE: Depressing and holding down any key on
the top row of your calculator will cause random
segments to be displayed. These random
segments do not affect normal operations of the
calculator and will fade away or disappear when the
key is released. Also, the entire display,
Iincluding the small “ A" battery condition
indicator, is blanked during key entries and
calculations.

Constant Memory™ Feature

Even when your calculator is turned off, the
Constant Memory feature saves the memory
content, the decimal places selected, the last
constant, the mode, and all data entered in the
same mode prior to turning the calculator off.
IMPORTANT: The Constant Memory feature is not
maintained if the batteries are discharged or
removed. Also, normal clearing functions are in
effect when the calculator is turned back on. For
example, pressing oart twice will clear the constant
or pressing will clear all data entered in
the previous mode.



Display Indicators

r— BATTERY CONDHTION INDICATOR

A
STAT 0 S L S S
FIN ol I L.‘..ltlu.'.. ]

L |
FLOATING INTEGER DEGIMAL
MINUS SIGN  FLOATING DECIMAL POINT

MODE INDICATORS

NOTE: Eight digits may be entered into the display.
Any digit keys pressed after the eighth are
ignored.

Battery Condition Indicator. The small “A" in the

upper left-hand portion of the display indicates a

“good battery"” condition. When A" becomes very

dim or disappears, it means that the batteries are

becoming weak and should be replaced. However,

the batteries may still operate the calculator for
several more hours before it begins to operate
erratically. See the Service Information Appendix
for battery replacement instructions.

Mode Indicators. "STAT" indicates statistical
mode. “FIN" indicates financial mode. The absence
of both “"STAT" and “FIN" indicates profit-margin
mode.

Floating Minus Sign. Any negative number is
displayed with a minus sign immediately to the left
of the number just as negative numbers are
normally written.

APD™ Automatic Power Down

If no keys are pressed for a period of about5to 15
minutes, the APD feature will cause your calculator
to automatically turn off. The Constant Memory
feature functions in the same way as when is
pressed.




If the APD feature is not desired, it may be
cancelled by pressing any keys in the second,
fourth and fifth columns simultaneously (such as
(0], [#=] and [=]). The cancellation remains in
effect until the calculator is turned off with [oFF] .

Dual Function Keys

Most of your calculator's keys have dual functions.
The first function is printed right on the key, and its
second function Is printed above that key. To
perform a function shown on a key, simply press the
desired key. To use the second function of a key,
press [2nd] in the upper left corner of your keyboard,
then press the key immediately below the desired
second function. For example, to find the square of
a number, simply press [=2] . To find the square root
{(V/x) of a number, press [20d] and then [=3]. In this
book we'll indicate operations involving second
functions with black key symbols like this: [2nd] :
Note that when [2nd] is pressed twice in succession,
the calculator will perform the first function
operation. When is pressed before a digit key,
the [2nd] operation is ignored and the digit is
entered.

Mode Selection

Your calculator operates in three different modes:
profit margin, financial or statistical. The calculator
rotates through the modes by repeated use of

. Remember that the profit margin mode is
indicated by the absence of both the “STAT" and
“FIN" indicators in the display.

The important thing to remember about modes is
that the data entered and the unique keys used in
one mode CANNOT be used in another mode. If the
mode is changed, all previously entered data and
intermediate results in the mode registers are
cleared. However, the memory content is not
affected. Also, pressing a unique key of one mode
while the calculator is in another mode will cause
"Error" to be displayed.



The mode registers are internal registers used by
the calculator when you use key functions unique to
the profit margin, financial or statistical modes.
Details of the unigue functions in each mode are
described in separate sections of this manual.
Data Entry

For maximum versatility, your calculator operates
with a floating decimal point. When entering
numbers, the decimal is assumed to the right of the
mantissa until [+ ] is pressed. Then the fractional
part of the number is entered and the decimal point
floats with the entered number. A maximum of 7
digits may be entered to the right of the decimal.

[0] through [9 | Digit Keys — Enter numbers 0
through 9.

[+ ] Decimal Point Key — Enters a decimal point.
A decimal point is not displayed for integer
numbers.

[+/~] Change Sign Key — When pressed after
numnber entry or a calculation, changes the sign of
the displayed number.

[==¥] x Exchange y Key — Exchanges the displayed
number with the content of the y register, and is used
to exchange divisor and dividend in division
problems and for data entry and result display in
certain financial and statistical calculations. This will
be discussed in more detail in later sections.

Fixed Decimal Display

[Fix] Fixed Decimal Key — Used to set a fixed
number of digits to the right of the decimal point.
Press [Fix], then a digit key ([ 0 | through [ 7])
corresponding to the number of digits you want to
see to the right of the decimal point. For example,
[Fix] [2 ] will cause all results to show two digits to
the right of the decimal point — a convenient

display for dollars and cents. You can returnto a
floating decimal display at any time by pressing
[Fx] [&] or [FiX] (9.



Using the fixed decimal display does not affect the
accuracy of your calculations since the calculator
uses all internal digits (up to 11) for subsequent
calculations. For example, if [FiX] [2] has been
selected and the actual result to a problem is 6.158,
the calculator will display the rounded value of 6.16
as the result. However, the calculator internally
carries the actual 6.158 value to the subsequent
calculation or memory (if used).

Remember that the fixed decimal selection is
retained by the Constant Memory feature. A fixed
decimal selection remains in effect even when the
calculator is turned off, and will stay in effect until
you change it.

Extended Display Range (Scientific
Notation)
The normal display range of your calculator is
between 0.0000001 and 99999999 (positive or
negative). If a result is smaller or larger than the
normal display range, the calculator automatically
switches the display to scientific notation. In
scientific notation, the display value spilits into two
fields, the mantissa and the power-of-ten exponent.
For example, the result of the calculation:
—0.00360889 10000000 [=]
is expressed as —3.6089 x 10~ 10 by your
calculator. The calculator display shows:

BATTERY
CONDITION
INDICATOR MAN';PSSA EXPONENT
.
flast 1l 1
'y
=
S B Tl T e BT B e S L
L Ly L
] LIL : |
I INTEGER DECIMAL
FLOATING EXPONENT SIGN

MANTISSA SIGN



In scientific notation, a positive exponent indicates
how many places the decimal point should be
shifted to the right. If the exponent is negative, the
decimal should be moved to the left. In the last
example, you need to move the decimal point 10
places to the left to obtain the result in normal form:
—0,00000000036089
\-__.-/
10 places left

Clearing Your Calculator

Clear Entry/Clear Key — Removes an
incorrect number entry from the display when
pressed before any function or operation key is
pressed. When pressed after an operation or
function key (including [=]), this key clears the
display, the constant and any pending calculation.
Pressing twice always clears the display, the
constant and any pending operation. The memory
and mode registers are not affected by this key.
[sTo] Clear Memory Key sequence — Clears
the memory by storing a zero.

[znd] @I} Clear Mode Registers Key Sequence —
Clears all data stored in the mode registers. Using
[2nd] [ to change modes also clears the mode
registers.



Clear "Error” Condition. In general, pressing [ong
when “Error” is displayed clears the display and any
pending arithmetic calculation. If the "Error”
condition resulted from a user memory overflow or
underflow, the user memory is also cleared. If the
“Error” condition resulted from any mode register
overflow or underflow, or from any computational
error pertaining to the statistical or financial modes
(Error Conditions 12 through 19 below), the mode
registers are cleared. All other Error Conditions (2
through 11 below) which result from illegal key
sequences (8 through 10 below), computation, or
data entry can be cleared without affecting the user
memory or mode registers.

Error Conditions

The display shows “Error” when an overflow or
underflow occurs, or when an improper operation or
key sequence is attempted. When the "Error"
condition occurrs, no entry from the keyboard
{except [0FF] ) will be accepted until DN is pressed.
This clears the “Error” condition and any pending
calculation. You must now return to the first of your
problem and start again or continue from the end of
the last valid mode operation if you were doing mode
calculations and were interrupted by one of Error
Conditions 2 through 11.

“Error” appears for the following reasons:

1. Calculation resulting in number outside the range
of the calculator (1.0 % 10710 9.9999 x 10%) in
the display, user memory, or mode registers.

2. Dividing a number by zero.

3. Calculating [z] or [2nd] [EH of zero.

4. Calculating [2nd] [Z3, a power, or arootof a
negative number.

5. Calculating A% with x. equal to zero.

6. Multiplying a number greater than 1 x 10* by
another number may cause an error condition.

7. Setting up an add-on percent constant with x:
(first entry) equal to zero.

10



8.

9.

Following the [FiX] key by a key other than the
numbers [0 | — 9 | or D .

Following the Bug] key by a key other than (%],
(1), [Put], [PV], [FV], [2nd] or oWig .

10. Pressing a function key unigue to one mode

L

while in anather mode. (For example, pressing
when in the statistical “STAT"” mode.)
Calculating profit margin with the selling price
equal to zero.

The following "“Error” conditions will cause the

12.

13.

18.

18:

mode registers to be cleared:

Attempting to calculate financial unknowns
before enough known variables have been
entered or when no valid solution exists.
Entering statistical data points where the square
of a data point, or the sum of the squares of a
series of data points, exceeds the upper or lower
limit of the calculator.

. Calculating any statistical function with no data

points.

. Calculating standard deviation (n — 1 weighting)

with only one data point.

. Attempting linear regression calculations with

less than two data points.

. Attempting to calculate the y-intercept/slope or y’

for a vertical line in linear regression.
Attempting to calculate x' for a horizontal line in
linear regression.

Turning the calculator off while a statistical or
financial mode calculation is in progress. The
“Error” will appear when the calculator is turned
back on.



Ill. MATHEMATICAL FUNCTIONS
All mathematical functions on your calculator can
be performed In any of the three modes. However,
the constant operation has some limitations in the
financial and statistical modes which are described
in the Calculations with a Constant section.
Arithmetic Operations
Add Key — Instructs the calculator to add the
next entered quantity to the displayed number.
[=] Subtract Key — Instructs the calculator to
subtract the next entered quantity from the
displayed number.
[X] Multiply Key — Instructs the calculator to
multiply the displayed number by the next entered
quantity. This displayed value must be less than 1
* 10 or an error condition may resuit.
Divide Key — Instructs the calculator to divide
the displayed number by the next entered quantity.
[=] Equals Key — Completes all previously
entered numbers and operations. This key is used
to obtain both intermediate and final results.
To perform simple addition, subtraction,
multiplication and division, just key in the problem
as it is written. When each operation is keyed, it
completes the previously entered operation. This
includes +, —, X, +, y% and A% (the latter two will
be discussed later).
It is a safe procedure to press at the start of
each new problem to make sure the calculator is
cleared. This is not required after an [=]. Following
[=] with a number entry automatically clears the
previous result.



Example: 37 +16.9 —11 =428

Press Display
owre 0
37 [=] 37
169 =] 53.9
W= 429
Example: 4 x (—6.6) — (—17.1) = -9.3
Press Display
4 4
6.6 [+ [=] —26.4
171 #4 [=] - 93

Entry errors can be corrected very easily on your
calculator by immediately pressing the correct
arithmetic function, yx or A% key, or by using the
clear-entry function.
Example: 6 # x 7 + +43 =45

Press Display/Comments

6 [+] [X] 6  +changedto x.
7[=][*¥] 42 6 x7completed and

— changed to +.
4 0 4 entry cleared.
=] 45  Answer.

After a result is obtained in one calculation, it may
be used as the first number irra second calculation.

Example: 184 + 254 = 438, then 438 + 365 = 1.2

Press Display
184 [+ 254 [=] 438
[=] 365 [=) 1.2

If the second part of the last example is changed to
365 + 438, the [*:7] key can be used to reverse the
numerator and denominator.

Press Display

184 [¥] 254 [=) 438
3657 [=]  0.8333333

13



Reciprocal
[7z] The Reciprocal Key — Divides the displayed
number (x) into 1. (x cannot be zero.)

Example: 1 __ =03125
3.2
Press Dispiay
3.2 ] 0.3125
Powers and Roots

[#2] The Square Key — Calculates the square of
the displayed number (x).
Example: (4.235)* = 17.935225

Press Display

4.235[ =] 17.935225
(2nd) EE Square Root Key Sequence —
Calculates the square root of the displayed number
(x}. (x cannot be negative.)
Example: V6.25 =2.5

Press Display

6.25[2nd] 2.5

[znd] EZ¥ Universal Powers and roots — Used to
compute yX or Wy as follows.
To raise y to the xth power (y*) simply:

* Enter the number, y

« Press [2nd]

« Enter the power, x

* Press [=] (or any arithmetic, y* or A% key).

To take the “xth” root of any number y {\’f@):

« Enter the number, y

* Press

« Enter the root, x

* Press [Vz]

* Press [=] (or any arithmetic, yX or A% key).
Note that in either case the variable y should be a
positive number and that attempting to take the Oth
root of a number results in an error condition.




Here are a few examples illustrating the use of
these key sequences:
Example: 2* + 6 = 14
Press Display

2 [2nd] 3[+]*6[=] 14

*Be certain to allow a moment for your calculator to
complete calculations involving y* before making
the next entry.

Example: 3.124/1460 = 10.332744

Press Display

1460 [20d] 3.12[%| [=] 10.332744
Natural Logarithms and Antilogarithms
[2nd] Natural Logarithm Key Sequence —
Calculates the natural logarithm (base e) of the
displayed number (x). (x cannot be negative or
zero).
Example: In 1.2 = 0.1823216

Press Display

1.2 [2nd] [EE3 0.1823216
[2ed] IBE Natural Antllogarithm Key Sequence
— Calculates the natural antilogarithm (raises e to
the xth power) of the displayed number (x).
Example: e1-25 = 3.490343

Press Display

1.25 [znd] 3.490343
Percent and Percent Change
Percent Key — Converts a displayed percent
value to its decimal equivalent (percent + 100 =
decimal percent). For example if you enter 43.9 and
press [ ], 0.439 is displayed.




The real power of the [#%] key is turned on for you
when you use it in combination with an operation
key. This allows “add-on" and “discount” as well as
straight and inverted percentage problems to be
solved. The rules for using the [%] key in these
situations are tabulated below. Simply press the
brief sequences shown to perform the desired
operation on the number in the display.

- n [=] adds n% to the original number

displayed.

*[=In [=] subtracts n% from the original
number displayed.

«[X] n [*%] [=] multiplies the original number in
the display by n%.

*[=1n [=] divides the original number in the
display by n%.

When the key is used with the [+ ] and [=]
operations add-on and discount percentages are
easily calculated.

Add-on Example: How much will you pay for an
item costing $15 when a 5% sales tax is added?

Press Display/Comments
15 5 0.75 Amount of tax.
=1 15.75 Total amount you'll pay.

Discount Example: The retail price of an item is
$54.25. What is the sale price if it's to be discounted
15%7?

Press Display/Comments
5425[=] 15 8.1375 Amount of discount.
=] 46.1125 Sale price is $46.11.

When the key is used with the [X] and [=]
key, “straight” and “inverted” percentage problems
often encountered in business can be easily solved.



Straight Percentage Example: A watch company
has shipped 40% of your 12000 unit order. How
many waiches are on the way? In other words, what
is 40% of 120007

Press Display/Comments

12000 x] 12000

40 0.4 Decimal equivalent
of 40%.

=] 4800 Number of watches on
the way.

Inverted Percentage Example: 30 deliveries have
satisfied 15% of your customers. How many
deliveries are needed to satisfy all your customers?
In other words 30 is 15% of what number?

Press Display/Comments
30 15 0.15 Decimal equivalent of 15%.
=} 200 Total deliveries needed.

Xy [20d] x:[=] Percent Change Key
Sequence — Calculates the percentage of change
between the two values x, and x., where;

A% =_S7% 100

Xz

Example: What is the percentage increase in the
cost of a raw material that now costs $906.25 and
formerly cost $814.757

Press Display/Comments

906.25 [ a0/ ] 906.25

814.75[=] 11.280439 Percent increase
in cost.

The cost has increased over 11%.

Calculations with a Constant

[¥ ] Constant Key — Used to store a number and
an operation (+, —, X, +, A% or %) for use in
repetitive calculations.

The constant operation and number can be
established as part of a normal calculation.

17



Pressing (%] after a math operation key sets the
repetitive operation, and the operand in the display
when [=] is pressed is stored as the constant
number. (Pressing another operation key or
after [k ] changes or clears the constant.) Now you
just enter a new number and press [=]. The
calculator performs the repetitive operation with
your new number and the constant number and
gives you the answer.

The following listing shows how to input the
caonstant for each math operation where M is the
constant number:

[+] [®] M[=] adds M to each subsequent entry.

[=] [¥] M[=] subtracts M from each subsequent
entry.

[X] [¥] M[=] multiplies each subsequent entry
by M.

[=] [¥] M [=] divides each subsequent entry by
M

[2nd] %] M [=] calculates the percentage
change (A%) between each
subsequent entry x4 and M,

where:
A% = =M q00
M
(Firstentry) [#+] [x] M [*4] [=] adds M% of the
subsequent entry
to the entry.
(Firstentry) (=] [x] M [*%%] [=] subtracts M% of
the subsequent
entry from the
entry.

The constant function will also be enabled if you
press [k | after entering M. The only restriction is
that [K'] must be pressed after the math operation

18



and before [=]. The constant operation and
number are also maintained by the Constant
Memory feature, but be careful to press one only
one time when turning the calculator on.
IMPORTANT: The constant function is functional in
all modes, however, there are some limitations. The
constant is cleared in the financial mode when any
financial computation is performed. The constant is
also cleared in the statistical mode when any
variable is entered. Since the constant number is
stored in the y register, using [*:7] can cause
erroneous results.

Note in the following examples that the constant
can be entered as part of a normal problem
sequence.

Example: Multiply 2, 4, 6 and 7 by 3.1416.

Press Display/Comments

2[X] k] 2

3.1416 [=] 6.2832 First problem
solved and
“x3.1416" is
stored.

4[=] 12.5664 Second problem
with constant.

6[=] 18.8496 Third problem.

Ti=] 21.9912 Fourth problem.

Example: Add 5% tax to each of the following prices
with the answer rounded to the nearest penny:
$5.95, $19.98, $54.50 and $129.75.

Press Display/Comments
[Fix] 2 0.00 Fix decimal at
2 places.
595 [+] [K] 5.95
5 %] [=] 625 $5.95+5%
19.98 [=] 20.98 $19.98 + 5%
54.50 [=] 57.23 $54.50 + 5%
128,75 [=] 136.24 $129.75 + 5%
[Fix] 9 136.2375 All digits of last
problem.

19



IV. MEMORY FUNCTIONS
The memory keys allow data to be stored and
retrieved at will for additional flexibility in
calculations. Use of the memory does not affect any
calculations in progress, so memory operations can
be used wherever needed. Also, the memory
content can only be changed with the [STo], [5UM or
[EXC| keys and is NOT affected by [okic, [m,
[2nd] EH o [0FF].
Memory Store and Recall
[5T0] Store Key — Stores the displayed quantity in
the memory without removing it from the display.
Any previously stored value is discarded.
[Rtl] Recall Key — Recalls a copy of the quantity in
the memory to the display.
Example: Store and recall 3.012

Press Display
3.012 [s10) 3.012
(blank)
[owic} [Ret] 3.012

Sum to Memory

[suM Sum to Memory Key — Algebraically sums
the displayed number to the memory content. The
displayed number and calculation in progress are
not affected.

NOTE: To ensure that the previous memory content
does not affect your calculation, always use [STo] to
store the first quantity of a new problem or use
[5T0] to clear memory.

Example: 173 + 16 = 189.
28.3x7 = 198.1
312-42+78 = 2778
Total 664.9
Press Display Memory
173[+] 16 [=] [s10 189 189
283[X]7[=] M 198.1  387.1
812[J42[+]78[=] sim 2778  664.9
[re] 6649 664.9'
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Memory/Display Exchange

[Exc] Exchange Key — Exchanges the memory
content with the displayed number. The displayed
number is stored and the previous memory content
is displayed.

The exchange key is very useful when you want to
compare the results of two problems without writing
one of them down.

Example: A grocery sells canned corn in two sizes.
The 482-gram can sells for 39 cents and a
248-gram can sells for 24 cents. Compute the price
per gram for each can and use memory exchange
to compare the results. Then compute the amount
saved if you buy the most economical size.

Press Display/Comments

B8[=]482[=] 0.0008091 Store first
value per gram.

24 [+]248[=] 0.0008677 Second value
per gram.

[EXC 0.0008091 Large can
more economical.

=] et (=] —0.0001586 Difference per
gram.

[X]482[=] —0.0764516 Saveover?7
cents on large
can.
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V. PROFIT MARGIN FUNCTIONS
The profit margin mode of your calculator provides
for easy handling of cost, selling price and profit
margin problems. The profit margin mode is
selected by repeatedly pressing £ until
neither “STAT" nor "FIN" appear in the display. Any
data entered with the [CsT], or keys is
cleared if the mode is changed or if the mode
registers are cleared with (2rd] I,

[csT], [5EL], war] Cost, Sell, Margin Keys — Used to
enter two of the three variables (cost, sell or
margin). The third variable is computed by
preceding the key for the third variable with [2nd],
For example, enter cost and press [C5T1], enter profit
margin in percent and press mar|, then press [2nd]
to compute selling price.

Calculations are based on

Profit Margin (%) = w x 100
ell

which is percentage profit margin based on the
selling price.

Example: You need to determine the selling price
for a number of new books in your bookstore. You
require a 28% profit margin. What should be the
selling prices for the books that cost you $4.50,
$9.90 and $15.307

Press Display/Comments

 Mads | Repeat until “FIN" or "STAT"
do NOT show in display.

28 [war| 28 Enter profit margin %.

4.5 [csT] 4.5 Enter 1st book cost.

[2nd] 6.25 1stbook selling price.

9.9 [2nd] 13.75 2nd book selling price.
15.3 [c5T] [2nd] 21.25 3rd book selling price.
The mode and the data in the mode registers is
preserved by the Constant Memory feature until
changed or cleared.
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VI. FINANCIAL FUNCTIONS
All financial calculations in this section involving the
keys: [ 1, [Zsil, [Pwi], [PV], [FV], pue], [2nd] TN and
[, require the calculator to be in the financial
mode. The financial mode is accessed by pressing
the sequence [2nd| 2 until “"FIN" appears on the
left side of the display. Remember that (znd] I or
[2nd] [ clears all mode registers and should only
be used when you are finished with the data entered
for financial calculations.
Financial Key Tour
Since the financial keys are functionally related, the
following tour of the financial keys provides a preview
of the calculators capability and a quick reference for
future use.
[N, %], [pv], [Fv]Compound Interest Keys —
These keys are used to enter values for number of
periods, periodic interest rate, present value and
future value, respectively. To enter any of these
values, simply enter the number in the display and
press the appropriate key. For example, a period of
five years can be entered by pressing [5 ] and then
pressing [N ]. Having entered any three of these
values, pressing the [2nd] key followed by the key
representing the unknown value signals the
calculator to compute that value. The calculator
recognizes the difference between a compound
interest problem and an annuity problem by the fact
that the payment is zero. To ensure proper operation
when working compound interest problems, be sure
to begin the problem with [2nd] I (clear mode
registers) or use the sequence OWC] [PwT] to make the
payment zero. If you have just pressed [2nd] [,
this is not necessary, since [znd) [ automatically
clears the mode registers.

[Pm1] Payment Key — Used with the other financial
keys, [N 1, [%il, [PV], and [FV], to enter or calculate
the payments for an annuity.
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Annulty Due Key — Used as a prefix to

w1, Bell, [Pv], [F¥], or [PM1] when computing the
unknown value in an annuity-due problem.

The following two key descriptions cover special
amortization functions. The information that must be
in place before using these functions is the percent
interest [*4il, the payment amount [PuT], the present
value [F¥] or loan amount, and the number of periods
[N]. Enter three variables, then compute the
fourth before using the following functions.

[2nd] [EIN Princlpal and Interest Key Sequence —
For any payment number entered in the display, this
key sequence determines the principal amount of
that payment for a fully amortized, direct-reduction
loan. Then pressing (3] displays the amount of
interest paid by that payment.
[2nd] Accumulated Interest and Loan
Balance Key Sequence — For any payment
number entered in the display, this key sequence
determines the accumulated interest paid from the
first payment through the payment specified
(inclusive). Then pressing [*27] displays the balance
remaining on the principal of the loan after the
payment specified.
To find the accumulated interest paid after me Mth
through the Nth payments (inclusive):
+ Enter Nth payment number, press [2nd] [H], wait
for resuit, then [sT0].
« Enter Mth payment number, press [2nd] [E0, wait
for result, then sum.
* Prass [Rct] to display accumulated interest.
IMPORTANT — The calculator blanks the display
while performing calculations. Keyboard entries are
ignored when the display is blanked even though
symbols or digits may appear while some keys are
pressed. The computation for %i may typically take 5
to 30 seconds. If unrealistic values are entered for
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computation of %i, the calculating time may be
minutes or even hours. If this occurs, press [ofF] then
jowg twice to go on to another calculation.

Compound Interest

The four variables involved in compound interest
calculations are: the number of compound periods
(N), the periodic interest rate (%i), the present value
(PV) and the future value (FV), Once you have
entered any three of these four variables into your
calculator, you can determine the fourth by pressing
[2nd], followed by the key representing the unknown
fourth variable, For compound interest calculations,
unlike annuity problems, payments are not involved.
Your calculator recognizes the difference
between a compound interest problem and an
annuity problem by the fact that the payment is
zero. To ensure proper operation when working
compound interest problems, be sure to begin the
problem by entering zero as payment or by clearing
the mode registers with [2nd] . If you have just
pressed [2nd] [ to get fo the financial mode, the
clearing operation is not necessary, since [2nd] [I3
automatically clears the mode registers.

Example: $2000 is invested for 3 years at 12%
compounded annually. What is the future value of the
investment?

Press Display/Comments

[2nd] [ Repeat until
"FIN" appears.

[2+d] ED

fowic} [Fix] 2 FIN 0.00 Clears registers
& selects
2-place decimal.

2000 [pv] Fin 2000.00 Enters present
value,

] FIN 3.00 Enters number of
years.

12 [%]] sn 12.00 Enters rate of
return.

[znd] 0 Fin 2809.86 Future value.
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Example: If the interest were compounded monthly
(12%+ 12= 1% monthly interest), what would the
value be at the end of the same 3 years? If you did
not change modes or clear the mode registers, you
won't have to enter the $2000 present value for this
example.

Press Display/Comments
12[F)12[=] Computes and
) Ffn 1.00  enters monthly
interest rate.
I[X]12[=] Computes and
N mn 36.00 entersthe num-
ber of months.
[znd D Fin 2861.54 Future value.

By compounding the earned interest more frequently,
more money is made.

Notice that the interest rate per period must be
adjusted to correspond to the time interval in
which the compounding occurs, when handling
any financial calculation.

Example: The house you bought for $37075 in 1972
was appraised at $52000 in 1977. What was the
average annual appreciation rate?. ~

Press Display/Comments

[owt} [2nd] [N FiN 0.00 Clears registers.

37075 [pv] rin 37075.00 Enters present
value.

52000 [Fv] fin 52000.00 Enters future
value.

5[n] Fin 5.00 Enters number
of years,

[2nd] ' EN 7.00 Computes
annual
appreciation.

The average annual appreciation in the value of your
house is about 7%.
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Example: You plan to travel to Europe in two years.
How much do you need to invest today at 7.5%
annual interest compounded daily to have $3500 in
two years? (In this example you know the future
value, and are solving for the present value.)

Press Display/Comments

owrc]  CH | Fin 0.00 Clears registers.

3500 [Fv] Fin 3500.00 Enters future
value.

7.5[=]365

[=] EAil Fin 0.02 Calculates and
enters daily i
(rounds to 2
places in the
display).

365[x] 2

=] [v] rin 730.00 Caleulates and
enters the num-
ber of compound-
ing periods.

[znd] 0 rin 3012.52 Computes the
present value.

You need to invest $3012.52 today to have $3500 in
2 years.
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Annuities

An annuity is any series of equal payments made at
regular intervals of time. The time intervals between
payments are called payment periods. An annuity is
a compound interest situation with periodic
payments. This definition covers a wide variety of
financial situations such as the regular payments you
make for rent or an apartment or mortgage for a
house, installments on various loans and premiums
on insurance policies. There are basically two types
of annuities, ordinary annuities and annuities due,
differentiated by payments being made at the
beginning or end of each payment period. The
variables involved in annuity calculations are: the
present value of a debt or an account (PV), the
payment per payment period (PMT), the interest rate
for the payment period (%i), the number of payments
(N), and the future value of a debt or an account (FV).
Your calculator is capable of directly solving annuity
problems involving either a present value or a future
value, but not both. You enter three of the variables
and your calculator will solve for the fourth unknown
variable automatically. Your calculator is also capable
of determining whether it is a present value or a
future value annuity problem depending on whieh of
those two keys was pressed last. For example, if the
future value variable is the only or the last variable
entered of PV and FV, your calculator will ignore the
content in the present value data register and
proceed to solve the problem as a future value
annuity problem.
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Ordinary Annuities

An ordinary annuity, sometimes called payments in
arrears, involves payments made at the end of each
payment period. Most loans fall into this category.
When you take out a loan, you establish a debt of
some present value to be repaid with interest by
certain payments for a fixed number of periods.
Problem situations such as this are often visualized
on a time-line diagram of the sort shown below. In
these diagrams, a horizontal time line is used to
illustrate the time period of a given financial problem
or situation, with all appropriate variables indicated.
Example: The super ski boat Don couldn't live
without required him to borrow $7500 at 9% per year
compounded monthly. He decides to repay the loan
in 5 years by 60 equal monthly payments. What are
his monthly payments?

PV= §7500 Payments (PMT= ?)
t PMT PMT PMT PMT PMT
§E s s o e s Lt L]
=9 2 3 59 60
Months (N = 60) Monthly 9%
interest rate 12

Press Display/Comments)

[2nd] (1Y Repeat until
“FIN" appears.

onie] [2nd] [T

[Fix] 2 FiN 0.00 Clears and sets
fixed-2 display.

7500 [pv] Fin 7500.00 Enter present
value.

9[F] 12(=]

il FIN 0.75 Computes and
enters monthly
interest.

60 N] rin 60.00 Enters numbers
in months.

[znd] G fin 15569

Don's payments are $155.69 per month.
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Example: How long will it take to pay off a $32,000
loan at 8.75% if your monthly payments are $4007?
How long if the monthly payments are $3007?

Press Display/Comments

[owr] [2nd] EIN FIN 0.00 Clears mode
registers.

32000 [Pv] rmin 32000.00 Enters loan
amount.

B.75[=]12

=] il FIN 0.73 Calculates and
enters monthly
interest.

400 [pui rin 400,00 Enters payment
amount.

(2nd] I ein 120,50

You'll have to make $400 payments for over 120
months. To find how much you'll owe after the 120th

payment:

120 EiN 120 Enters the
number of
complete pay-
ment periods.

[2nd] [=7] Frin 19950 The remaining
balance.

You'll pay the loan off completely if your 120th
payment is $400.00 + $199.50 or $599.50. If
$599.50 is too large a payment, you can recalculate
for 121 payments.

121[2nd] (B0 [(=27] \in —199.04

In this case the 121st payment would be

$400.00 —$199.04 = $200.96.

Now find out how long it will take to pay off the loan if
you make $300 payments.

300 Fu] Fin 300.00
[20d] N fan 207.02

You'll have to make $300 payments for 207 months
and then you'll still owe some on the loan. To find out
how much you'll still owe after the 207th payment:
207 [2+d] B =¥ FiN 7.35
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Your 207th payment will be $300+ $7.35 or $307.35
in order to retire the entire loan amount.

Notice that only the $300 payment needed to be
reentered for the second part of the problem solution.
The previously entered values were retained.

Annuities Due

Insurance premiums and rent payments are
examples of annuity due situations, also called
payments in advance. Here, payments are made at
the beginning of each period in anticipation of
services to be received during the coming period.
Regular deposits made at the beginning of each
period into a savings account form an annuity due
type of investment. When making calculations
involving annuities due, press [pue, followed by the
key representing the fourth unknown variable,
instead of [2nd] to compute the result.

Example: Present value for annuity due. You can
lease a feed store for $350 per month with the lease
payment due at the first of each month. What is the
present value of the equivalent yearly cost of the
lease, figuring that you could earn 6% annual interest
compounded monthly if you put the payments into a
bank?

Rent payments 350 350 350 350
Number of months e P 11 12
PV=7 i= ge

12



Press

Display/Comments

74) [z
o (2] G0
[Fix] 2

12[N] FIN

(GO PV | FIN

0.00

350.00

12.00

0.50

4086.96

Repeat until
“FIN" appears.
Clears Mode
registers &
selects 2-place
decimal.

Enters payment
amount.

Enters number of
periods.
Computes and
enters monthly
interest.

The present value
of equivalent
yearly lease (jf
your money can
earn 6% annual
interest
compounded
monthly.)

Example: Future Value for Annuity Due (Savings).
You plan to deposit $20 per month beginning this
meonth in a savings account which pays 5% interest
compounded monthly. If you make no withdrawals,
what will the balance be after one year?

Press Display/Comments
oW rin 0.00 Clears mode
registers.
20 [pu] ein 20.00 Enters payment
(deposit).
12[N] rin 12.00 Enters periods.
5 12[=] Calculates and
rn 042 enters monthly
interest.
[ouEl Fin 246.60 Future value for
annuity due.
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Example: Payment for Annuity Due. You are the
beneficiary of a $10,000 insurance policy. You elect
to receive this amount in 60 equal monthly payments
with the first to be made immediately. What will the
amount of each payment be if 5% interest
compounded monthly is paid on the proceeds of the
policy?

Press Display/Comments

| Chi ] Fin 0.00 Clears mode
registers.

B60[N] FIN 60.00 Enters number
of payments.

5[] 12[=] Calculates and

FiN 0.42 enters monthly.
interest rate.

10000 [P¥] rin 10000.00 Enters present
value.

joue] W FIN 187.93 Monthly
paymaents.

In a similar manner, the interest rate for an annuity
due can be determined. Remember, if the interest is
compounded monthly, you must multiply the results
for % i by 12 to obtain the nominal y: rate
compounded monthly. Note that utilizes an
iterative process to obtain the interest rate. In some
calculations this process can require several
seconds to complete.

Amortization

A debt is termed amortized when all principal and
interest have been repaid, usually by equal
payments at regular intervals, The principal and
interest key sequence and the accumulated interest
and loan balance key sequence, discussed earlier in
the Financial Key Tour section, allow you to solve
amortization problems with great ease.



Example: You want to borrow $10,000 and repay it

over a period of five years with the payments due at
the end ofeachyear. The yearly interest rate is 8%.

Calculate your payment amount and determine the
principal and interest paid by each payment for five
years.

Press Display/Comments
[2nd] Repeat until

= “FIN" appears.
[onrc] [2nd] Clears mode
[Fix] 2 FiN 0.00 registers & sets

2-place decimal.
10000 [Fv] rin 10000.00 Enters loan amount.

8 FIN 8.00 Enters interest rate.
5[n] FIN 5.00 Enters number

of payments.
[2nd] rin  2504.56 Computes payment.
1 [2nd] rin 170456 Principal paid
with first payment.
[*7] mn - 800.00 Interest paid
with first payment.
2 [2nd] I ein 1B40.93  Principal paid with
second payment,
[==3] v B63.63 Interest paid with
second payment.
3 [2nd] rin 1988.20 Principal paid with
third payment.
[=] rn 516,36 Interest paid with
third payment.
4 [2nd] IR Fin  2147.26 Principal paid with
fourth payment.
[=7] rin  357.30 Interest paid with
fourth payment.
5[znd] [T rin  2319.04 Principal paid with

fifth payment.
[=3] Fn 18552 Interest paid with
fifth payment.



Example: Continuing the above example,
determine the accumulated interest between the
first and third payments and the balance remaining
after the third payment.

Press Display/Comments

[3][2nd] (M ,in 1980.00 Accumulated
interest for 3

years.
[5T0) sn 1980.00 Store in memory.
[x] rin 4466.30 Balance at end of
3 years.
[A)[d B s« 80000 Accumulated
interest for 1
year.

v —B800.00 Change sign.
sin —B800.00 Subtract first
year's interest.
Fin 1180.00 Interest accumu-
lated between the
first and third
years.
The interest accumulated between the first and
third years is $1180.00 and the balance remaining
after the third payment is $4466.30. You can see
that the interest is the sum of the second and third
years' interest from the previous example detailing
principal and interest for each year of the loan:
$663.63 + 516.36 = $1179.99 (about $1180.00).
Remember that the calculator displays results
rounded to the nearest cent when operating with
2-place decimal, Pressing [Fix] 9] will show that
the displayed $1180.00 is actually $1179.9953
rounded to the nearest cent.

B &
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Bonds

A bond is a financial obligation made by a
corporation or government agency which pays the
owner a periodic amount and also has a redemption
value at some future date or maturity. The amount
of each periodic payment or coupon is equal to the
face value of the bond times the bond interest rate
per period. The yield or investor rate of return per
period is computed using the compound interest
and annuity formulas programmed into your
calculator. For the examples that follow it will be
assumed that the redemption price is equal to the
face value as is usually the case.

Present Value of a Bond

The present value of a bond can be determined
simply by summing the present value of the
redemption price and the present value of the
coupon payments. The investor's desired rate of
return (yield) must be used in this type of
calculation for [*4i] since the nominal interest rate
on the bond only determines the amount of the
periodic payment.

Example: Jim Edwards wants to buy a bond to yield
a 7% annual return. How much should he pay for a
$1000 face value 4% bond which matures in 10
years? It has a semiannual coupon payment of $20.

PV=7  Payments (PMT = 20) FV = §1000

20 20 20 20 20
} 4 } b= e eiuis siniae —_—
0 1 2 3 19 20
Payment periods (N = 20)
i=(7/2)%
36



Press Display/Comments

[2nd] [EDY Repeat until
“FIN" appears.

foarg [2nd] [EHID Clears mode

[Fix] 2 FIN 0.00 registers & sets
2-place decimal.

10[X] fn 10.00

2[=] [n] Fin 20.00 Enter number
of semiannual
periods.

7= Fin 7.00

2[=] Pril FIN 3.50 Enter semi-
annual yield
as %i.

1000 [Fv rin 1000.00 Redemption price.

[2nd] [570] ein 502.57 Calculate present
value of bond
redemption value.

20 [puT] Frin 20.00 Enter semiannual
payment.

[2nd] DD M Fin 284,25 Valusofwupnn
payments.

[REL) Fin 786.81 Total present
value.

In financial journals the quoted price of a bond is
usually based on 10% of the bond face value. In the
above example a bond quoted at $78.68 would fit the
conditions given. You could have calculated this
answer by using 100 for the redemption price and 2
for the payment in the key sequence above.
Generally, for any maturity period convert the time to
years (i.e. 7 years, 3 months = 7.25 years) and then
use the sequence above. For calculating the yield of
calls, use the call price for [Fv]in the compound
interest part of the computation.
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Yield to Maturity of a Bond

The interest rate which makes the present value of
the redemption price plus the present value of the
coupon payments equal to the cost or quoted price of
the bond is known as the yield to maturity. This is the
true rate of return which an investor receives on his
invested capital.

Example: If the quoted price was $728.20, what
would be Mr. Edwards' yield to maturity?

The present value of this bond at 7% is known to be
$786.81. Now try 9% since a higher rate must be
used to discount the bond to a lower present value.

Press Display/Comments

[2nd] [ETY rin 0.00 Clears mode
registers.

10 [X] FIN 10.00

2[=1[n] rin 20.00 Enter number of
semiannual
periods.

9+ FIN 9.00

2[=] Fin 4.50 Enter semiannual
yield as %i.

1000 [Fv] Fin 1000.00 Enter redemption
price.

(2nd] 5% ew 41464 Discounted
redemption price.

20 [pw] Fin 20.00 Enter semiannual
coupon payment.

B S0  siv 260.16 PV of coupon
payments,

[REL] Fin B74.80 Total PV of bond
at 9% yield.
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Using this yield to discount the bond results in a
present value lower than the quoted price, sotry a
lower rate.

Yield PV
7% 786.81
? 728.20
9% 674.80
Example: Try 8%.
Press Display/Comments
jonrg Fn 000 SelsPMT=0
B[+] mn 8.00
2(=] Fin 4.00 Enter semiannual
yield.

[2nd] (5T0] rin 456.39 Discounted
redemption price.

20 v 20.00 Semiannual coupon
payment.

[2nd] [sUm rin 271.81 PV of coupon
payments.

Fin 728.19 Total PV of bond at
8% yield.

Since this is almost equal to the quoted price, 8% is
the approximate yield to maturity.

Notes concerning bond calculations. The
approaches shown in this section to compute bond
price and bond yield are precise theoretical solutions.
Historically, bond transactions have incorporated
various approximations that are still in common use
today. Because of this, the answers using the
theoretical method may not agree exactly with all
other sources.
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VIl. STATISTICAL FUNCTIONS
In many situations in your business (and everyday)
life, you may find yourself making decisions based on
a set of data points. This data could be test scores,
sales figures, weights of an incoming shipment, etc.
An effective way to evaluate this data is to use
statistical methods. The statistical functions,
available in the statistical mode, are accessed by
repeatedly pressing [20d] [EH until “STAT" appears
in the display.
Remember that [2ed] [T or [ clears all
mode registers and should only be used when you
are finished with the data entered for statistical
calculations.
Statistical Data Entry and Removal
[3+] Data Point Entry Key — Enters data points for
statistical calculations. After a data point is entered,
the current total number (n) of data points entered is
displayed.
&) Data Point Removal Key Sequence —
Removes unwanted data points from the stored data
array. After a data point is removed, the current total
number (n) of data points stored is displayed.

40



The procedures to enter and remove an array of data
are provided in the following chart.

SINGLE-VARIABLE
DATA

TWO-VARIABLE DATA

1. To Enter Data Points:

« Enter first data point

* Press [I+]

+ Repeat for all data
points

« Enter first “x" data point
+ Press [=27]
= Enter first “y" data point
* Press [I+]

+ Repeat for all points

2. To Remove Last Data

Point Entered*:
+ Press (nd] B3 +Press [2nd |3
3. To Remove Any Other
Data Point Entered:
« Press =] + Enter first unwanted “x"
+ Enter unwanted data data point
point * Press [=37]
« Press [2nd] « Enter first unwanted “y"
+ Repeat for other data point
unwanted data points | « Press [2nd] |3

« Repeat for other
unwanted “x" and "y"
data points

*If any statistical computation has been performed,
you must use the third procedure.
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Once entered, the data can be used to calculate the
mean, variance and standard deviation by simply
pressing the necessary keys.

IMPORTANT: Since this calculator can hold statistical
data in the mode registers even when turned off,
always clear the registers with [2nd] [II1 before
entering a new set of statistical data.
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Mean, Standard Deviation, and Variance
The most common statistical calculations used in
“boiling down" a set of data points are the mean,
standard deviation, and the variance. (The mean
value represents the “central” tendency of your data,
the standard deviation and variance are parameters
that indicate how “spread out” or variable the data
is.) You can also simultaneously analyze two sets of
data, allowing you to examine relationships between
them. Because of your calculator’s Constant
Memory* feature, the mode registers retain all
entered data even after the calculator is turned off.
This feature allows you to enter additional datato a
previously entered data array without having to
reenter the old data. This time saving feature is
especially useful whenever you're working with a
large data array.

[2nd] [I% Mean Key Sequence — Calculates the
mean of the data entered.

[20d] Sample Standard Deviation Key
Sequence — Calculates standard deviation using
n-1 weighting {for sample data).

[2n¢] [EZ} Population Standard Deviation Key
Sequence — Calculates standard deviation using n
weighting (for population data).

NOTE: A population is usually a large set of items,
and a sample is a smaller portion selected from the
population. The difference between the Sample
Standard Deviation and the Population Standard
Deviation calculations becomes very small for over
30 data points.

[2nd| 75 [=7] Sample Variance Key Sequence —
Calculates variance using n-1 weighting (for sample
data).

[2nd] [z%] Population Variance Key
Sequence — Calculates variance using n weighting
(for population data).
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The various key sequences that may be used to
analyze an array of statistical data is provided in the

following chart.

SINGLE-VARIABLE
DATA

TWO-VARIABLE DATA

+ Enter first data point.

* Press [I+].

* Repeat for all data
points.

* Press [2nd] m to
calculate the mean of
the data.

* Press [20d] o
calculate the standard
deviation of the data
using n-1 weighting
(normally used for
sample data).

* Press [2nd] to
calculate the standard
deviation of the data
using n weighting.

* Press [=7]
to calculate the
variance of the data
(with n-1 weighting.)

* Press [2nd] BT [=2]
to calculate variance
of the data with n
weighting.

Call the two sets of data

"x" (independent) and "y"

(dependent) arrays of

data.

« Enter first “x" data
point.

* Press [=7].

« Enter first "y" data
point.

* Press [I+].

= Repeat for all points.

* Press 3 to
calculate the mean of
the “y" data points.
Then press [=:7] to
display the mean of the

“x" data points.
calculate the standard
deviation of the “y" data
using n-1 weighting.
Then press [=:7] to
display the standard
deviation of the "x" data
using n-1 weighting.
+»Press B (=3 to
calculate the variance
of the “y" data points
with n-1 walgh‘!mg
Then press [*7] [#7] to
display the variance of
the “x" data points with
n-1 weighting.
continued
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two variable
(continued)

+ Press [2rd] R tO
calculate the standard
deviation of the "y" data
points using n
weighting. Then press
to display the
standard deviation of
the “x" data points
using n weighting.

* Press [2nd] [=] to
calculate the variance
of the “y" data points
with n weighting. Then
press (=53] [=i] o
calculate the variance
of the “x" data points
with n weighting.
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Example: You're teaching a course, and the first set
of test scores is in. You'd like to see how well the
class is doing. The scores are tabulated below.

96 65 81
85 76 86
57 98 75
78 100 72
81 70 80

Press Display/Comments

[2nd] [0 Repeat until
“STAT”" appears
in display.

[Fx] 9 Al 0 Clears mode
registers &
selects floating
decimal.

96 E:E STAT 1

863+ anl 2

[2nd] 2 AT 1 Remove incor-
rect data point.

85(3+] WIAT 2 Reenter cor-

- rect data point.

: (Continue for all points)

72[3] WAL 14 Display shows
total number
of data points
entered.

B0 @ STAT 15

STAT 80 Class average.

anl STAT 11.970201 Standard
deviation (n-1
weighting).

=2 STAT 143.28571 Variance (n-1
weighting).
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If your data represents an entire population and not a
small sample taken from a large population, n
weighting is usually used to compute the standard
deviation. This is easily calculated by

[2nd] D STAT 11.564313

It an entry error is made and discovered before
another entry is made, the incorrect number may be
deleted by pressing & The correct number
may then be entered and [2+] pressed.

If an entry error is made and not discovered until
after other entries have been made, the error may be
corrected by pressing owfd (=331, enter incorrect
point, press [2nd] 3, enter correct point, press (2],
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Linear Regression and Trend Line
Analysis

In both 